C

®PT6BT

TH
(TL)

PT6B-55.110D% &

DOH

T

(

MIEPTEB-10-3HD1HE

)
No

xEgRFEY b EAX
1y F. EAE HEE
RV M BHRIHES
T¥, AIRBEVKRD
&V,

% i No % i
1 |EHE>IRE 9 |T
2 |79k Tyyrd) 10 |HFTBTVTY b
3 |77 11 (V> TNy x>
4 |ZeRH 12 =97
5 |BEE 13 |4y
6 |IJLR 14 [/I¥y x>
7 |TIR 15 | 759
8 |EE

@dOFEAO, KHEOWE. EE5MAMETHHERTEET,
F/-. dORAO, FHEOER, REREFRRBLTHYET,
BHIRINEIEEESBOLET,

BT : mm

0%

i K

T

s
=

AN
=

#8 ¥

& EE

L

IL

OL

d |DOH/ TD | TH

EBR b

TL|TP| A KL |TK1|TK2

ke

32

PT6B-10-3.5K-32

100

220

220

Rc11/4

114

357

1285

1356

400

100

346

739

230

120

120

43

M12X160

40

PT6B-10-3.5K-40

100

300

300

220

220

Rc11/2

114

357

1285

1356

400

100

346

739

230

120

120

43

M12X160

32

PT6B-26-3.5K-32

260

350

350

300

300

Rc11/4

111

507

1588

1662

560

140

485

889

310

120

120

73

M12x160

40

PT6B-26-3.5K-40

260

350

350

300

300

Rc11/2

111

507

1588

1662

560

140

485

889

310

120

120

73

M12Xx160

50

PT6B-26-3.5K-50

260

350

350

300

300

Rc2

111

507

1588

1662

560

140

485

889

310

120

120

73

M12Xx160

32

PT6B-55-3.5K-32

550

420

420

375

375

Rc11/4

115

657

1966

2028

800

200

693

1039

430

160

160

117

M16x200

40

PT6B-55-3.5K-40

550

420

420

375

375

Rc11/2

115

657

1966

2028

800

200

693

1039

430

160

160

117

M16x200

50

PT6B-55-3.5K-50

550

420

420

375

375

Rc2

115

657

1966

2028

800

200

693

1039

430

160

160

117

M16%200

50

PT6B-110-4K-50

1100

720

720

535

535

Rc2

262

962

1992

2082

1100

275

953

1344

580

160

160

291

M16X315

65

PT6B-110-4K-65

1100

720

720

535

535

Rc21/2

262

962

1992

2082

1100

275

953

1344

580

160

160

291

M16X315

WEE HEE - @A

g EANE

ZEREAICL VR 2280,

sEt

al
ENE-BEEEPHEEETHY ET,

A

]

Zm| 75 | 100

75

| 100

1]

% (mm)

75 | 100

EAHX S (MPa)

04:06-1.0-1.5:20:25

MPa

EAX S (MPa)

04-061.0-1.5:20-25

CHF—T0y 7 (NREDR) IWE EZy T UL Fiy %y

W7 — BT AERSR

Hi §
_ e

L =

14KH (FRKBAIEZ 1 7))  28KA (FRKBAIEZ 1 )

m &

REFRES
MPa

s £

7-IRfiaty b

7=V Rftmt y b

BELLT

1.4

¥ =Rt Emt y b

FRKBILE S A T

FT—=IWATLLR

7-YRfiR@mt y b

2.7

FRKBLE 2 A T

534



